Daily Learning Tasks
03.07.2020

Maths

English —
Reading Comprehension Bitesize

[»F1]
Bitesize Daily Book Club: ‘
A Midsummer Night's Dream Retold by
Marcia Williams

To end the week, we will be completing a
reading comprehension.

Follow the link fo access the Ieomlng
https://www.bbc.co.uk/bitesize T
/[articles/zn2x8hv

Join in with the activities
provided and remember
to pause when asked.

Basic Skills Test

As part of our maths lessons,
we complete ‘Key Skills Tests’.
The children should be very fomlllor with these.

Please see slides 2 and 3 for the test and
answers.

Keep a track of your weekly score to see if
you are improving. Ask an adult to go through
a couple of errors with you so you understand
where you went wrong.

Spelling:

Copy the following words to practice
handwriting, then put the words into a
sentence.

Spelling pattern - (-ly words)

happily, practically, accidentally, cautiously,
angrily, foolishly, massively, kindly, normally
Can you think of more words that use this rule?

Science

How do we hear sound?

Follow the link to access the BBC bitesize
learning:
https://www.bbc.co.uk/bitesize/articles/zfsbp4j



https://www.bbc.co.uk/bitesize/articles/zn2x8hv
https://www.bbc.co.uk/bitesize/articles/zn2x8hv
https://www.bbc.co.uk/bitesize/articles/zfsbp4j

A: Place Walue, Add and Subtract

B: Multiply, Divide and Fractions

C: Measure and Geometry

F:1 F:10 J:i9
1. What is the missing number? 11, 72+8= 23. One cup holds 330 millilitres of
0 50 150 200 250 liguid. How much do 3 cups hald?
2. What is the 3 worth in thi ber? > 12 12x8 e - - -
. What is the 3 worth in this number? . X8= = - =
c13 C— DO C—>D C—>D
33 3:11 32
3. Write this number in words. 13, 3xa= 22. Tom bought 4 cans of pop that
720 were 60p each. How much did they
P 1z cost in total? Give your answer in
4. Estimate the labelled number? 14. | buy 6 packs of balloons. | have 30 pounds and pence.
0 } 51'} 115[) balloons. How many are in each pack?
35 N o | 3013 e 3:22
5. Write a number that is smaller than 16. What fraction % A= = 23. Draw hands on P ’
i ioi . _ =T =N =T -
648 using the same three digits. is circled? SA=t=R=1() the clock to show . A
36 514 . T
- ; @ o o i i
6. 352+10= 16. What fraction g5 - < Twenty five minutes 2 .
i5 shaded? W to four. AT
37 1 3:15 327
7. 528-64 = 17. What is Y of 187 24. How many right angles make half
a turn?
8. Circle the best estimate to 79 + 101 12. This shzape is in tenths.
170 180 190 200 Shade in 5"
33 Fa7 328
9. Use 18 + 34 = 52 to help solve: 19. Addthe 3 3 25. Circle the vertical line.
520-180= | fractions. 3 9
39 F:18
10. What is the missing number? 20. Write the 11 1 1
148 -[ | =89 smallest fraction. 3 6 7 2
Total (A) Total (B) Total (C)
Test Total (A+B+C) R (0-9) | ¥ (10-19) | G (20-25)




A: Place Value, Add and Subtract B: Multiply, Divide and Fractions C: Measure and Geometry
3:1 F:10 319
1. What is the missing number? 11, J2+8= 23. One cup holds 330 millilitres of
0 50 150 200 250 100 9 liquid. How much do 3 cups hold?
2. What is the 3 worth in thi ber? e 12 12x8 e - - - s90m!
. What is the 3 worth in this number? . Xx8= = = =
o 3 units 9 | =D =D D
33 3:11 32
3. Write this number in words. seven 13, 3dxd= 22. Tom bought 4 cans of pop that
720 h"‘“r:::t:“" 136 | were 60p each. How much did they
P =1z cost in total? Give your answer in £2 and
4. Estimate the labelled number? 14. | buy 6 packs of balloons. | have 30 pounds and pence. 40p
$ ' 35-45 [ ? 5
0 =0 100 balloons. How many are in each pack:
35 i 3:22
5. Write a number that is smaller than | 486 or | 16. What fraction 23. Draw hands on o My
648 using the same three digits. 468 is circled? the clock to show _ ""= Hands
36 » o
&. 352+10= 16. What fraction Twenty five minutes 2 = drawn
402 i5 shaded? ® oo |12 3 | tofour LT
7 1 315 327
7. 528-64= 17. What is 3~ of 187 24, How many right angles make half
464 6 aturn?
38 3:16 2
8. Circle the best estimate to 79 + 101 18. This ShzapE is in tenths. @
170 190 200 180 | shadein < 4
39 347 328
9. Use 18 + 34 = 52 to help solve: 15. Addthe 3 5 R 25. Circle the vertical line.
340 ; CI) —
520-180=[ | fractions. 9 9 p
= 0 - Centre
10. What is the missing number? 20. Write the 11 1 1 1 line
148 - =89 59 smallest fraction. 3 6 7 2 7
Total (A) Total (B) Total (C)
Test Total (A+B+C) R (0-9) | Y (10-19) | G (20-25)




